4x4 ACCESSORIES

+ ROOF BAR SET HARDTOP

LIGHT 1.27M XTM
Owner’s Manual

210MM

Rooftop tent is not included.

148MM



210MM

+ PARTS LIST

148MM

Roof bar x 2

M8 x 15 Bolt x 8

)@

M8*20 Bolt x 8

)

Endcap x 4

Bracket x 4
© [> 0
o 0

M8 Square nut x 8

,;a.

M8 Nyloc nut x 8

S

Allen key x 1

I

148MM

+ WARNING

Please read and understand all the following safety information prior to installing and
using this Roof Bar Set. Check the weight capacity of your vehicle from your vehicle
manufacturer before installation of this Roof Bar Set.

+ This Roof Bar Set is designed to fit XTM ROOFTOP TENT HARDTOP LIGHT only.
Do not use for any other purpose or any other model of roof top tent.

+ Do not lift the XTM ROOFTOP TENT HARDTOP LIGHT by using this Roof Bar Set.

+ The loading capacity of this Roof Bar Set is 40KGS in static conditions. DO NOT
overload.

+ Ensure that all the mounting brackets and bars are installed correctly as per
instructions. Inspect the connections periodically to ensure all bolts and nuts are
tight.

+ The load carried on the roof must be distributed evenly and attached securely.

210MM

+ Remove all gear on the bars before opening the XTM ROOFTOP TENT HARDTOP
LIGHT.




+ PRE-INSTALLATION |

Step 2:
| Slide the pre-assembled nuts into the slots on both sides of the lid in the desired
| position. Tighten the Bolt using Allen key provided. Repeat to install the other bar.

Roof bar

End cap

Bracket ___ M8 x 20 Bolt |

M8 Square nut _

U5
) o] .

M8 x 15 Bolt |

Step 1: |
Pre-assemble the roof bar bracket loosely using four M8 Bolts
and nuts Repeat this on the other end. Do not tighten at this stage. |



PLU: 691596  CODE: LM-RB002
Manufactured and packaged for
SRGS PTY LTD
ABN 23 113 230 050
6 Coulthards Avenue
Strathpine QLD 4500, Australia
MADE IN CHINA



